1. Divide two-digit whole number quotients with four digit dividends without a remainder.
162544
A. 159
B. 127



You are right! Go to next.



You are wrong! Try again.



2. Divide two-digit whole number quotients with four-digit dividends without a remainder.
A6)8514
A. 99
B. 89



You are right! Go to next.



You are wrong! Try again.



3. Divide two-digit whole number quotients with four--digit dividends without a remainder.
929644

A. 117
B. 107



You are right! Go to next.



You are wrong! Try again.



4. Divide two digit whole number quotients with four-digit dividends without a remainder.
62} 7440

A. 120
B. 142



You are right! Go to next.



You are wrong! Try again.



5. Divide two digit whole number quotients with four- digit dividends without a remainder.
567952

A. 143
B. 142



You are right!



You are wrong! Try again.



